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Binomické rozdělení 

Pravděpodobnostní funkce 
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E(X) = n · p  ;  D(X) = n · p · (1 – p) 
 
 
Poissonovo rozdělení 
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E(X) = λ  ;  D(X) = λ 
 
 
Hypergeometrické rozdělení 

Pravděpodobnostní funkce: 



















−
−










=

n

N

xn

MN

x

M

xP )(
 

pn
N

M
nXE ⋅=⋅=)(  

1
1)(

−
−⋅







 −⋅⋅=
N

nN

N

M

N

M
nXD  

 

Geometrické rozdělení 

Pravděpodobnostní funkce: ( ) ppxP x ⋅−= 1)(        
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Negativně binomické rozdělení 

Pravděpodobnostní funkce: 
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Rovnoměrné rozdělení 

Hustota pravděpodobnosti:  

• f(x) = 1 / (b – a)  pro x ∈ <a, b> 

• f(x) = 0   jinak 

Distribuční funkce:  

• F(x) = 0   pro x < a 

• F(x) = (x – a) / (b – a) pro a ≤ x ≤ b 

• F(x) = 1   pro x > b 

E(X) = (a + b) / 2 

D(X) = (b – a)2 / 12 

 

Exponenciální rozdělení 

Hustota pravděpodobnosti: 

• f(x) = λ*e-λ*x  pro x ≥ 0 

• f(x) = 0   pro x< 0  

Distribuční funkce: 

• F(x) = 1 – e-λ*x  pro x ≥ 0 

• F(x) = 0   pro x < 0 

E(X) = δ = 1 / λ 

D(X) = δ2 = 1 / λ2 

 

Odhad parametrů ZS - interval spolehlivosti 
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